EARAROBEEIERT — 2 N— IBISH —F

20175 7H298 (£) 2E#A1H

Bl =e55 1 0007T ¥5R3%E (BS) (5 =8 (w1 8 [imesm - = o0 1o 2
[A&4] 1 7 15,000,000 § 2 7% :6,000,000 § 33 :3,800,000 4 3% :2,300,000 5 & :1,500,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
I3 4t 4 | AEHIR 1:33.7 7-8 32.6100.3| 2 500 | BREEE (53)
1]8[11| A= —=>— 57.0 s} o) | ) SATr—n
LT RIA VL= BU—NARTYL INTF—L
3 e o4 | BHEEHR 1:33.7 10-10 | 32.6(100.3| 5 474 | AFEI ()
2|8|12| ¥a TS T L 57.0 (") o) | (B
L:Tv TRy b B xS R—L2X KA
4 3 | FIBEKX :33.7 5-5 32.8100.2| 3 464 | BERFOME (SE)
3PN 4| NTAT 52.0 (NF) 412 | B) prF-L—vy
Xk TAANAN BHdAVYECRT =N J—HrTp—LI
. R BEHEE . v REER (KH)
4 3| F>3-73-2 o4 il 173?:)7 9-8 32.6100.3| 7 (4&2) o)
L:n—E>Yv— BEIY—LXb HET77—L
- N i 5 | ENAE 1:33.8 3-3 33.0] 98.9 | 4 480 | FEER (i)
s 2|77~ 57.0 (172 e | W) &0
L:N—=Y754 B:2%/X4AbE— ¥ e
=N i 4 | AREF 1:33.8 7-6 32.8(99.0 | 1 428 | BERZER (3ER)
6|55 7N=F-TrLA 55.0 (7€) (2) | EFEAF—LF 42T R ()
L:Fs—=TA Ny N B:yavxv=4r J—HrTr—LA
B s 4 5 | PEEE 1:33.8 11-11 | 32.5| 99.3 | 8 484 | BRE (BF)
717110/ ¥a v ER—- b 57.0 (74%) (a) | BBER
Ln—ErTvy— B:T74070O-L J=HrTp—L
5 4 5 | HHE 1:33.9 1-1 33.4| 95.8 | 10 458 | FRFBE (BR)
8l1|1|2HB/ LA 57.0 (5¥) (ca) | AARF
g4 TATv— Biba4¥ya BREM#FB LG/ 77— L4
-, s — o4 | EERA 1:34.2 12-12 | 32.7] 945 | 9 440 | RARL (EH)
9 7 /v —= 57.0 (1 3/4) (-2) LR
RiRY—L¥y—=— B:E17—TL—L BRSH UL Tr—L
TS . # o6 | Bladtt 1:34.3 2-2 33.7| 90.2 | 12 | 462 |XEI (Xi#)
10 8| ¥ RNT 17N 57.0 (3/4) o | B ¥3TLoEs5T 5707
RFAETFI4 b BiLh—E—X7)—> NYERTT—L
S = B 4 | SREXH 1:34.5 5-6 33.6| 89.1 | 6 416 | HEIRED (5
15| 6|V FUT 5.0 a 178 Lo | W) $3TLyKI5T 5747
SRFAOd=I R BRARXTINT - EvJLy RT7—L4
= 5 > 5 | BfElE :34. — . . WMABR (EX)
l7lo|T1NVF =T > am 1(/7311:;5 3-3 33.7| 88.4 | M ;1_5; ﬁ%aa%’a
R:F4—TA2NT ~ BiNAO—25)L AR /—-ZELX
@ 71 L
) 45.2-33.2
NA>Z24 L | 13.0-11.1-12.1-12.3-12.0-11.3-10.5-11 .4
® I —F—EBIERL
1T=7r=
230—F—
Gol=5r= 1,8(2,9) (4,6) (5,11)3,12-10,7
40—+ — 1,8(2,9)4(5,6) (3,11)12,10,7
[ N3
B O 1 440M 714K 11-12 730M e E 8-8 2,120 JEHE 4-11-12 5,700
8 B 1 1609 4-11 860 B E 11-12 2,050M B 11-12-4 28,280
12 220M 4-12 880 B HE 11-12 3,690
4 230M

ABICOVWTRDTEEERROODE. TR LIV,




